ID:1210 P- 1

P g SR
ESR S TR = 1 =i Q1 IV NI )
By 3% A FI054£02 H 24 H eI Dt e/ 82 kv (Biir)
fh 4 JE Hh & Wae | %K E=E e T fE g2y ]
KR B 10. 00| FA % 114 1, 140 1,134 889 756
IENE £ I& 10. 00| AHxf 189 1,890 1,458| 1,157 734
HOR w5 5. 00| FHxf 86 430 6,480 5,863 540
B X £ % 15. 00 | #856f 150 2,250 1,782 1,542 1,296
ERSEaNe) o JE 12. 00 [ #A % 214 2, 568 918 834 432
O NAE (r— 4. 00 | ¥t 50 200 1,836
H & 5O 3. 00| FHxf 236 708| 1,404 918 302
H A el 1. 00 | #H % 255 255 864 642 432
ENIEE 500 fxt| 20| 00| 3,240 2,970 2,700
T R 2. 00| H%F 233 466| 1,134 1,032 864
[ I\ w5 5. 00 | #H >t 1, 250 6,250 2,160 1,773| 1,296
IR Foak L 2. 00| FA%f 1 2 4, 320
T e S 10. 00| AHxf 105 1,050 2,322 1,771| 1,026
A—=T 4 AbiEiE 10. 00| AHxf 786 7,860 1,512 865 540
£ # AbiEiE 20. 00 | #H 5%t 350 7,000| 2,160| 2,083 1,998
(= | 10,00 fxt| 65| 3,650] 2,700] 1,442] 972
LA A It fE 10. 00 | #H%f 530 5,300 3,024| 2,678 1, 836
Y=L F R 5 [ 4. 00| FBF 531 2,124| 1,944 1,557 756
Tayal— w5 6. 00 | #H %} 320 1,920 3,132| 2,441| 1,296
ENIE 6.00| fxr| 1 o] 6o | 0,808
AMEE (i 0. 10| #Hxf | 5,600 560 162 116 65
ZDEH £ ¥ 0. 20 [ #Hx} 900 180 84 66 63
LU E % 0. 20 | FHx} 690 138 92 80 76




1D:1210 P- 2
P g SR
ESR S TR = 1 =i Q1 IV NI )
RHE A FI054£02 H 24 H eI Dt e/ 25 kv (Biir)
mi JE &= Wae | %K F e i fiE T fE g2y ]
Cimigii) %O 10. 00 | #H%F 300 3, 000 2, 700
VA 1 Ak L 10. 00 | ¥H % 200 2,000 2,268| 2,214| 2,160
5 U R 10. 00 | #H%f 773 7,730 4,104| 3,455 2,376
Yafa— #H & 10. 00 | #H%f 325 3,250 4,104 3,614 1,620
Avava 7 4 U ¥ | 13.00]| A%t 22 286| 3,024 2,810 2,646
T AT E— = R 0. 27 | ¥H %} 40 11 400 376 367
bEELS i 0. 27| FH%} 4,185 1,129 670 504 302
S X & 0. 25| FH*} 8, 457 2,125 540 450 270
IRBHD Y £ IH 0. 25| FH*} 3, 204 803 475 390 292




